
PHONE (586) 739-5555

ØA

50

6 M12 X 70 mm LG.
SOC. HD. SCR.

MOLDED NEOPRENE
35 DUROMETER

SPACER

M12 SELF LOCKING NUT

J - 887497     WDX18 - 80 - 14065      65

A

J - 887498     WDX18 - 80 - 14100    100

ØA

50

6
SOC. HD. SCR.
M12 X 70 mm LG.

M12 SELF LOCKING NUT

SPACER

SOLID RUBBER ROLLER           65

SOLID URETHANE ROLLER      65

AMATERIAL

SOLID RUBBER ROLLER         100

SOLID URETHANE ROLLER     100

35 DUROMETER

06-98FJ - 2

PRINTED COPY IS
UNCONTROLLED

ROLLER ASSEMBLY FINNED AND SOLID

FINNED ROLLER

SOLID ROLLER

J - 887499     WDX18 - 80 - 1403
J - 887500     WDX18 - 60 - 28102  
J - 887501     WDX18 - 80 - 1405
J - 887502     WDX18 - 80 - 1406

JOLICO
NUMBER

FORD
PART NUMBER

JOLICO
NUMBER

FORD
PART NUMBER


	Model

